
The dimension formula in Exercise #11 (a) of Chapter 7.1.4 for the irreducible representation
of Spin(2n, C) with highest weight λ is incorrect. The correct formula is the following.

dimV λ =
∏

1≤i<j≤n

{

1 +
mi + · · ·+ mj−1

j − i

}

∏

1≤i≤n−1

{

1 +
mi + · · ·+ mn−2 + mn

n − i

}

×

∏

1≤i<j≤n−1

{

1 +
mi + · · ·+ mj−1 + 2(mj + · · ·+ mn−2) + mn−1 + mn

2n − i − j

}

In this formula the sum mi+· · ·+mn−2 in the second product is taken to be zero when i = n−1.
Likewise, the sum mj + · · ·+ mn−2 in the third product is taken to be zero when j = n − 1.

We thank Dr. Robert Zeier (Technische Universität München) for pointing out this error.

1


